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3.4 00000 (Ito formula)

B(t)O (F)-Brown 000000000000000000

X(t) = X(0) + /0 b(s, w)ds + /O a(s,w)dB(s) (3.4.1)

0000 a(t,w), b(t,w) 0000 (F)-000000000000000 T >0
0000

T
/ [b(s,w)|ds < oo a.s. (3.4.2)
0

T
/ la(s,w)?ds < oo a.s. (3.4.3)
0

boboobOoboooooobobooooobobooooboobooooobog
oboooboooooobooog

oo 3.6 M, OOODO A-O0OD0ODOOOO
¢ T

Mt:/ K.ds OO0 / |Ks|ds < o0 a.s.,
0 0

ogad
My=0 Vt<T, a.s.

000
000000000000 (341)00000000000000000
00 3.7 (00000)f0 C20000000(34.1)00000 X(+)000

gbooobon es. gboagoo

P = 1K)+ [ {0 (X(6) + ol s (o) f s
+ / a(s,w) /(X (s))dB(s) (3.4.4)

0 3.1 f(z)=2%X(t)=B(t)00000000000000f (2) =2z, () =
200 (34.1)00000a(t)=1,6(¢)=00000

(
t]. t t
§x2ds+/ ZB(s)dB(s):t+2/ B(s)dB(s)
0 0
00000d B)?—-+0000000000000
¢
2/ B(s)dB(s)
0

gboabooaooobaood
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U 3.2 000000004000

S(t) =x0+ /0 S(s)(uds + odB(s)) (3.4.5)
goooo .
(g(sf)) = pds 4+ odB(s)

0000000 legSt) 0D0OODO0O0DD0OUOOODOOUDOOO

t t t
pds 1/ 2 /
log S(t) —log xg = —_—— = o°ds + odB(s
g S(t) g0 , S5 2/, o (s)

goooooooo
t t 1
S(t):;z:oexp{/ adB(s)+/ (u—502)d5}
0 0

000000000000000000 f(z)=e" 00000X(t) =0+ (u—
16%)t+¢B(t) 00000000000000 S(¢) 0 (345 00000000
000

boboobooobooooboooboooooboobooboo 1000000
obooooobooog

00 38 f:[0,0)x R"— RO CH-0000000R"0D0000000O0
X(t) O

t
0

d t
X;(t) = X;(0) + kz_l/o a;j (s, w)dBy(s) —|—/ b;(s,w)ds

0000000000000 0a,k(tw), b(t,w) DODOD as. 000000
gooobooboo

¢ ¢
/aj7k(s,w)2ds<oo, /|bj(s,w)|ds<oo
0 0

000 By(t), j=1,2,...,d 0000 Brown 00000000000

X)) = 10X+ [ (s X(s)as
0

+ Z Z / aaxf;(m, X (5))aj,k(s,w)dBy(s)
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0 3.3 B(t), W) 0000 A-0000000000Z(t) =eBOHWEH 00
Ooooo0ooooooo

X1 (t) = aB(t), Xo(t) = bW (t) 0000 f(zy,20) = et 00000 Z(t) =
f(X1(t),Xo(t)) 0000 fo, = f, fuuw, = fi,=1,200000000000
oooo

260) = 200+ [ () X)X (o) + [ F(X(6), Xal0)dXa(o
3 I (0. Xa(o)a%ds 5 [ frnrs ((5) X))t

= tsas S ltsa22s
= 1+1;Z<xd3<y+wwq)y+24.m)( +b%)d

0000 3.3 00 X(¢)0000000000000000000BRB(®t), W(t) O
0000000000000

(i) X(t) = B()

(i) X(t)=(B(t)+at)° 0000
(iii) X(¢) = log(1+ B(t)* + W (t)?)
(iv) X(t) =e*BO 4 p000
(v) X(t) = B{t)W(t)

(vi) X(t) = B(t)eP®

X(t) = e {a + / " saB(s))

0
gbobooboooobooboobooboooon

t
X(t) = a+ B(t) —b/ X(s)ds
0
D000 3.5 n>00000 Hermite 000 Hy(t,z) O
Ho(ta) = D" eo?rn 9% —a o

n! ox™
gooooooooo

() 0000000000000y OOOODOOO

Z Y H, (t,x) = exp{yz — 7}
n=0
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(i) M, (t) O

(iii)

M, (1) = exprB(0) - Ly

[I[I[I[II:II:IMW(t)DDDDDDDDDDDDDDDDDDDDDD
t
M,Y(t):lJr/ M, (s)dB(s)
0

o0o0o0o0oo0oo0oo0oooo0on Myp) 0Oooooooooooo
uoooboooooao

Z,(t) = Ha(t, B(1))
oooono
My (1) = 34" Za(t)
0
goo0o0ooooooooooo
Z,(t) = [ Z,(54B()

oooooooooooo

m,0.5() = [ aBw) [ an(e) - [ asw,)

oooooo



